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a=input()
:'L.F a[l]__lllll .
print("{RESEE")

lse:

print("WREXE")
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num=input() #&A

sum=8

for 1 in range(len{num)):
sum = sum + int(num[i])#

it sum®3=—=0:#% FsumiF
print(num,"
else:#5El-~E30

print{num, " -
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result=(x- :!2}*5 e E

return r‘equl‘tn
f=float(input("; FEAEEEE? ") )#Ei,

c= fZCIfEI

print("BERES",c)
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def x(a,b):#EHE
while b != @:#whileiIEb- =0
r=akb
a=b
b=r

return a
a=int(input() )#Ei/
b=int(input() )#E
pPint!"ﬁgﬁﬂﬁﬁﬁ%?"

WITHER

S~ R 7 EEBR
% 13 200 PEILIE 7 BRUOFERT - BELRFNAERK BEERNTE -

T2 (H

for i in ranae{ﬁ 291)
if (i%7) ==

sum=sum+i

print(sum)
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import math
deg=float(input())
r=deg/180*math.p1

print("SinfE5", math. 51n{r]]|
print("CosfE%&", math.cos(r))
print("TanfE%&", math.tan(r))
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SinfE% 0.49999999999999994
CosE%S ©.8668254937844387
TanEE ©.5773502691896257
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import math

X1=float(input())
Y1=float(input())
X2=float(input())

Y= Tlirat{ 1H[Jl.l+(})

dis=math.sqrt(math. pnu{xl X2 2}+math pow(¥1-Y¥2,2))
# _:-:_é-_

print("FSAEEEES",dis)
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J1 ~ KRR 1000 &/ N 75 H]

K&/ N SmE T1F242%%24+3% 2+ +n**2 > 1000 .

i=08
sum=8
while sum<=1806:

i=i+1
sum=sum+i1¥#2
print("B/NMEE",1)
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import random
A2+ =random.randint(1,6) #1%Zl6f
print(82F)

while B2F != 6: z
g2+ = random.randint{1, 6)

print
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n = 1n+(1r|pu ('Z#EAnE" ")}
WM - 0 #RTSE

for 1 in range(1l, n+l):

FHE®EM = iﬁﬁJ%@Tﬂ - 1.1"{1*1]
print (" FHEEME", EHEEM)
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n = int(input('E&®AnE ? "))
1_":'11] =9 -‘IE“— _""_:l::?

for i in range(1,n+1): #i7F1ZIn+1 75

ERA = FEARA + i*i
print("FEFAE", FAHM)
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n = int(input(' =&\
fEseE = 1 #=32fE

for 1 in range(1,

EEE - fEmE > i

print(n, 'fEES
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for 1 in range(1, 1601):
if (i%3 ;

print(i
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FE=HE
for i in range(1, 1001):
sum = 8

for j in range(l, 1):

if 1% 3j == @:

sum = sum + J
if sum == 1i: |

print(i,
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T2
s="An apple a day keep doctor away ' IR
s=s.lower() ESNE
char="abcdefghijklmnopqrstuvwsyz" FIE char ##]
for i in range(len(char)): for @&
if s.count(char[i]) > @: i>0 BY char 8NN XY=

print(char[i],s. cnuntchar[ i ]I]
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import datetime FE A AE40
today=datetime.date.today() EHSHEE
print(today)

print(today.year,today.month, today.day)

now=datetime.datetime.now() &5 BRI E
print{now)

prin‘tmw.year‘, now.month, now. daym
print(now.hour,now.minute,now.second,now.microsecond)

2821-86-25

2821 6 25

2821-86-25 91:58:28.878436
2821 6 25

1 58 28 78436
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import time PEAREAH
st=time.time()
print(2¥*100) 2 1 100 75
et=time.time()
print(et-st)
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print(poem)

result=poem[:-1].split(" ")
print(result)
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for 1 in range(1l, 7): iELRT7 T

for j in range(1l, i + 1):

print(j, end="")

print()
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for i in range(1,5): i 1355
for j in range(1,i+1): JEL1E I+l 5
print("*",end="")

print()

i 320
JELRi+1m

i in range(3,0,-1):
for j in range(1,i+1):

print("*",end="")
print()
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= float(input("EBAEFIE"))/100 A\ —{E g
1.8
5]
i in range(2, 11): iE23% 11
whll?-_l. - R m>=i 5
ifm »>= 1i:
print("EFFE", i, "E8", y, "E")
break
m=m#* (1 + ins)
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while 1 <= 4:
j=1
while j <= 4:
if 1 == j:
print("1", end="")
else:
print("e", end="")

j:j+1
print()
i =1+1
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cll
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